Quadratic Transformation Worksheel Name _AM[_"_@%__ L

1. Wrile the vertex form of a quadratic cquatlon.
Y=a(x—=h)* + Lk

¥ What does chm:gmg the "a" vanablc do to the graph of a quadmatic?
l 1t ) 1 - |
Chorges +he wid+h of the gropn

3 Being specific, name 3 ways that a parabola changes with different types of "a"

values.

3 O ;j_ MokeS the g".)pﬁ é*re*cn vertically
or (narrower) ’
a< -1 >

4 -1< Q<1 Q%0 Mokes the grogon wider

4 What docs changing the "h" variable do 10 the graph of 2 quadratic?

e MOVES TS 9‘("_)\{,,;" flOfIZOf‘TOf‘LJ

5. If "h" is positive how docs the parabola move? Il negative? 2. _‘
h >0 moves the graph to +he right & T
Fie
Nn< O movesthe g _,;ra*_,h 10 the left (’Xﬁ‘ﬂf&r 4
6. What does changing the "k" variable do to the graph of a quadratic? h=-— 4

Moves the gvapin vertcall Y

7. If "k" is positive how docs the parabola move? If negative?
K >0 moves the g f:lpr U

K<O moves hE grapn down
8. What conclusion can you make about the variables of h and k together?

':‘h-)ﬁ?.;) (5 e F“‘@AO“‘ the _,{ r/ll
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Wrile the quadratic equation, in vertex form for cach graph. «/
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Converting Quadratic Equations Worksheel. Standard to Vertex

Convert the following quadratics from vertex form to standard form.

1) y=-Ax—-17-1 Qv 2(x-2)-3 Ay (x+4f+4
s fl=20z ) =L Y= 2(’%2~4%+4) -2 y= %+ Bur g+ 4
PR 2 —-1.- - 2 ) ‘
T i e 47 -Bx +8 =3 Y=o+ 8%+ 20
g=—%”'-+2*x-2 Lj= 2XZ—-8+ D

Convert the following guadratics from slandard form Lo vertex form.

4] y=xl-81+15 5) y=xz—4x A l @y,le'_gx+18
" - 2- ’ | --/ '2: 0 ] ]
U=(x* =B + ) +15 =i, Y=*-4x+4) =4 C YEXEHBX+ 1) I8
J . L :
N O o
':j=(’><,-—4}2~1_ W R " B e

2 i e N
| Y=(x+4)"+ 2
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Qy=iEseEs TEVeRSzs @ y-Rsxe

i e ; X5 =2x+ 1)+ 5~ |
Y=(x +4,<+c_1r)f3—4 ' EE=Ex+t )+ %y/\’l..gxhao)-.&&‘i‘fé

H_ (.X+’2§Q_*1 . Y= (x—4) + 4
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@ v=x7_6x+@ (‘-—Ld-'ﬁ'f‘tt?.p‘:, ,11) y'-x2+5x+§;' A Lj-
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12}y =X +4x—-1
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v—2x2—8x+9
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15)y=-x —6x—10

U= —(x%+ox+3)-10
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SETEEEEEE] kRS %= =2

==2(x*—6x +9 )—-21 +18 “j=22—(1'—2?;;
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e
Vertex (3J~3) ““nard” '.‘Ogr".’)pf: 5
choose anctnev ot ¢
f x=4 y= -2(4-3)"-3=-2(1)-3=-5



